off g2 ZAE MR vraA A2 A2

(‘)l_

[m]

3 |

‘e AR of 9

® c,a,b

¢, b ® b,c,a @ c,b,a

@ a

@a, b,c

a’+b%=c?




[e))]

oS -4 AB = 12¢m, AC = 5em &
o, oJKEC ©] Y{ol|& ot

p cm?

> e 25cm?

G
12cm” Ee
D K E

0JKEC = 0ACFG = 5 x 5 = 25( cm?)




O 1H 3 22 AATY ABCD 9] 5314
A oAtz BD 7471 €] 712 AE 2 £33
C °4 BD 71| 72| CF ¢] 4ol g
Tatoqet,

=
H -

| 2
> =g 96

==
~

-

Q

~&B

AABD ©f|4] BD = 10
6x8=10x AE, AE = 4.8
o2t AE = CF 0|22
AE+CF =48+48=9.6 °|c}.




4.

ok 24 BC 9 Zeol?

M DE AUHA ABCl BT B g 3t
1 BCeto] < Eetl shat.

ADECO|| mepatats A2 E 485 EC =
3

w2kA BC =4 + 3 = 70|t}




D
1
1
E 1
4cm|
F, 2
/I G
" 3cm
C

M

DEFGH 9] 22| (7}) |ol

DEFGH 9] B-& A2+

7, BC | 2

0]= 5¢cm o[t}




274417k ABC ] 7t 9] Zo] x -1, x, x + 1 0|tk x9] BL9

D1 @ 2 ® 3

©)

® 5

(x+1)2=x2+(x-1)2
4o+ 1=x24+x>-2x+1
2 —4x=0

Lx=4(x>0)




7.

B A47k9 ABCD ] vel

w), AP =2, CP = 4 o|H, BP" + DP~ 9| Zt29

Ag— D
R
S
B —=C
@ 15 @20 ® 25 @ 30

AP E A B, C Do

BP2 + DP2 =22 + 42 =20




1AFZYe ABCD ©f|A BD
Hth ABFD & o]d

£ ™

AABF = AEDF o|22 ABFD & BF = DF ¢l o]5¥4+2
Gl

oflh




o 23 2ol LA = 90° Q1 A4 A
AB=6,AC =8 % 1], BE' - DE’ & Fstojeh.

A

i

19

\VARR 4
0
iy

BC = 62+82 =100 ©|2& BE° - DE- = 100 — 81 = 19




10.

~&B

i

>
> HE: 16.8cm

1)

D
Q
~~<12em---"C

AABD ©f|4 BD = 15(cm) ©]t}.
APxBD = ABxAD ©|E &,

AP = 7.2(cm) ©]t}.

AADP ¢} AABD = Hgo]B g

PD : AD = AD : BD 9J|A]

AD’ = PD x BD ©|2.& PD = 9.6( cm) ©|t}.
w2tA AP 4+ PD = 7.2 4+ 9.6 = 16.8( cm) ©]t}.




\VARR 4
0x
iy

lo
rlu
1B
|J
o

o4 AB=3,
C=9, CD=9¢]
‘o o, AABC

=
w)
N
_
N S w
ofl
rOﬂl
N
N
~D

<

o
rE
o
ofl

©® eI K
N ooz oot fE o
I
S8 Soogh mx

2o 2 od
ol oflh oft

_l\.l
3o o
ox oo e

I

AACDONA

AC =15"—9"=144 .. AC=12
AABCOIA

8 +97 > 127028 oz 4kzkgolr),




LEPJ N
3 ABCﬂ-%Q- -3, 0), Z
B(3, 0), C(0, )& m1zsABC

A |0 BZ
o] 99| dol& AL
» &
> =g 16
AO=B0O=3, CO=40|0&
AAOCONA
AC =324+42=25 .. AC=BC=5

"~ (AABCY] E8¢] Zo))=AC+AB+BC
=54+64+5=16




A ¥l Zol7t 27t a, 2a-1, 2a+1 1 A7FE ABC 7} £2H47E <

o, o o gto] W9lE A

D 2<a<4 @ 0<a<4 B®)2<a<8

@ 0<a<8 ® 4<a<8

x2 > y? 4 2% o] AYotH F2HZ e olnt.
a=AZg o gt HolBg 4> 00]1L, 2a+1 o] 713 71 Holtk

(2a +1)? > a® + (2a - 1)?

a’*-8a<0,a(a-8)<0
a>0°BE2 FHS a2 W FHa-8<0.. a<8

& Azkeol Sl (73 71 Me] Aol < (eix] % § ho]e]
) olBR 2a+1<a+2a-1.. a>2

wtA 2 <a < 8




14. ohe 27} o] Azpizigo) 7t Mg Ao sHe vl Taln
C

Zt7tel Holg ABC AT Bl A= Dr ety Brh A1 B C =
25:b:c oA b-cE Fololet
B

iy

vV Vv
0x
i
J

~&B ~

Aol § 2 WAL Holk 42 x £ = 8n

25 9
Ot C=A-B = 7—8 zinolEiA:B:CZ
25 9

IHB2 h—c=16-9=7




15. o8 2|4 /BAC = 90° ©]11,AB2} AC £ A E° 7 5}= Hhel 9]
WolE 247k P, Q& o, P+ Q 9 #k& otoiet.

| 2
> M. 8rcm?




